@ <>

KEMISE AFEH2 VICTAULIC |2 ALE 10.012 RHZE6HAT] HEZLICE

STYLE 107H

E| ®E09I Style 107H O™ A HEYL2-8"750-200mm FHO EZXE MZAl 9 HAFAl i
28 g dEolE 80 MQQLIE}* EE, HE, WPM” 3 Ot A S 2O0HotK|

UTIME ROIEE X8 4= Q& LICEL Style 107H HEA M EZL Victaulic A}YO| Tjg} 12H

TS E HfEol HEY S Ho{'g1] Mol TtA I} vfEel LS ’S*@wﬂm SENE ot
EILICL 2R FAto] ZOfM = Victaulic HEHERIMES S 7&._’F_UH\I"I HFEfL|CE

Style 107HE WZEET|C HHAl0] MHE AHEHO] HobH 24 XIZ(29.9 in Hg/760 mm Hg)
Ol Al Z[CH 750 psi/5170 kPaQ| & +=8¢TrLICEL HEZQ |t AL 2 Hi2tol 28

% Emof o2t CHELICE

Style 107HE NFMOE WH == E& I MUES =0IX| YSLICH HiE XX &
W4 QHES ASME B31.1 M2t H E(Power Piping Code) 3 ASME B31.9 HEH|2H S0 2] HE
(Building Services Piping Code)0f] Z=%fL|LC}.

2 EM MAE 85 HOEHE B2& FHO EtA T2 AISWS IS HIPC R

oF HALICE AHQIFA Yo = &4 55 X 2L 0152 T&XE 17.098

REZORAIT] HEZFLICE QF2 FTHO| AB|QIY A B0 ALY BL, HFEA| Victaulic RX

E HMEE MEUH S MEACE ORE T1Z0H0F YLICH AHQIBA YEho| HMEA

J25 t30 2+et MM BEE 1I&XE 1701 & ®ZEOHT] HFEfLCH

*AFE R0 2 FF(29.9 in Hg/760 mm Hg)O| A %[ 300 psi/2065 kPa®l 304/304L
el 316/316L MES| AHE 10 AHOIY A LS HEO= H0= 2 - 4750 — 100 mm

Il

ES
THE AI8Y = ASLICH
TR AL 012 7: ASTM A-536, 53 65-45-12 & ZZ0t= R AZOIZH. ASTM A-395, 53 65-45-15 &
ZE0E THSAFH2 HE FEA 33 TtsYLIC
Ol EF: LUK Of[LtH.
MER AMY:
s 80IAEF
AR
e “EHP” %:l.
EHP(HAM & =M Z2 L] MM JC) 25 HQ|: 30°F ~ +250°F/-34°C ~ +121°C. A&
2= 8 o 24 3 CjYet 79 gAML QRS ZUOHK| g2 37 R S o4
SHEOoE MYYLICL: & HES +86°/+30°C0 S8 WA X +180°F/482°C0] S8
25822 ANSI/NSF 610 2/H UL Q15 S &S0IYUSLICE 43 HE HHHE22E
’“%*UW &Lct
s “T"SE LIEE
LIEZ(QHRX|M M FE) RE #HQ: -20°F ~ +180°F/-29°C ~ +82°C.
EE 2 HAG MR ME 248 37Tt 2HE 37|, AEd % FE2H TE U822
HOFSILIC} +150°F/+66°C & X0t 24 F= +14O°F/+6O°C Zots 02 HxD
S A8 2= HYUGHK| FELICH
*odr HE %E(General Service Recommendations)0l| LIZE & 20 AL 0IMA| 2.
TARE AYOHR| Y= E0= ALEOHA] OIMNAIR. §7F THAT Y 8 R HHY
2L 220 24oF %] Al Victaulic TFA 3 MEHX| Al (Gasket Selection Guide)2 &ZEGI0 F=A|T]
HEEFLICH
EE/{E: ASTM A-449 22|5 / 38t QH U ASTM A-183 22|% QHS =0l ARz
SEEAY EdYE
MERALY SE/HE: (FF4] 7 HO 2E R HED 55 ts)
EE: ASTM F-593, Group 2(316 AH|QIY AL), Condition CWe| QL HE £S&0l= A AL,
S Ex 2
L{E: ASTM F-594, Group 2(316 AE|QI3 A L), Condition CW
HEZ R} MZA AXILIof
A2 HD M EXt Spec Sect Para
x| Ut =
AR}

www.victaulic.com \/Ictaullc
Victaulic 2 VictaulicAle] SEAEQL|C} 3 SRME 20{¢L|ct. © 2013 Victaulic Company. All rights reserved.

rin



06.21-KOR

STYLE 107H

STYLE 107H AFH ZEE(SAl 4] 1ts ME)

‘eZ»‘

IT1

STYLE 107H HEH - = Al

NES) Inch/mm

AME ZRIE
(FA #A k5 YH)

ZHE HER
Yy | dH AF
Inch/mm | Inch/mm Inch/mm
2 2375 0.15 5 _%x2% 3.87 5.75 3.63 563 197 21
50 60.3 38 MI0X 2 ¥ 98 146 ) 143 50 09
2% 2875 015 5 %hx2% 437 6.26 415 6.15 197 25
65 73.0 38 M10 % 2 %2 m 159 105 156 50 1]
3.000 015 Y%x2 443 639 425 6.28 197 24
7461 AN | R 38 2= 0% 21 13 162 108 160 50 1]
3 3.500 015 5 %x3 495 736 471 7.24 197 31
80 889 38 M12x 3 126 187 120 184 50 14
4 4500 015 5 %x3 597 839 573 829 204 39
100 143 38 M12x 3 152 213 146 210 52 18
4250 013 Vox3 575 8.08 536 777 210 36
1080mm| - oes 3.2 2-\iax3 146 205 136 197 53 16
5.250 013 Vx3 6.76 935 6.525 9.26 209 48
1330mm| - 3335 32 2-n2x3 172 237 166 235 53 22
5500 015 Vox3 71 96 69 944 209 50
1397mm | %397 38 2-\iax3 181 244 175 240 53 23
5 5.563 015 3 _%x3 717 9.72 696 963 209 51
125 141.3 38 M12x 3 182 247 177 245 53 23
6 6625 015 3 _%X3% 8.31 1132 813 123 2.04 638
150 168.3 38 M16 x 3 4 om 288 207 285 52 31
6250 013 Sx3 7.89 1092 7.87 10.80 217 71
1590mm |- 560 32 2 o x3 v 200 277 200 274 55 32
1651 mm | 6:500 015 %x3% 818 1130 798 N 210 67
: 165.1 38 M16 x 3 4 208 287 203 282 53 30
8 8625 022 5 _%x4 1057 1356 1032 1344 2.55 10.5
200 2191 56 M16 x 4 269 344 262 341 65 47
+AT19] BYT 018 T Kl A AR HIX| S5O 20k ATOH0F BLICE Style 107H Quickvic TE A HEY LS
APAM HH 82 MHEUOD b2k A|ARIC] WA T 52 HXOIR| Q&L
@UQTHEEQ £+ =02 MIHEQ £ SUTL|CE
F I Victaulic A|A RIS MR, 22] E= ZFOH| Hoj o2 el kg M HOtD B4t E[REX] 2l Ot M A,

www.victaulic.com

ictaulic’

Victaulic £ VictaulicAte] SE4HLICL. RE S E S0{LICH © 2013 Victaulic Company. All rights reserved.

06.21-KOR_2

REV_H



SAYH - 128 HEY 06.21'KOR

O O L=
STYLE 107H
s ANSI =&
b2 =1
6 6.625 0.134 500 17236 0.280 700 24130
150 168.3 340 3450 76670 71 4825 107335
8 8.625 0.148 300 17528 0.322 600 35056
200 219.1 3.76 2070 77970 8.18 4135 155936
*ALS 3 9 ZTHOS 2 Victaulic AFZOf| E0H0] TR0 IRE TS Al LR X R0 vtES B Yot
EHQULICE TIEF B O] 5 0f) CHOH A = Victaulic Of QIGMI'H Hf2FL|Cf
F0:1919 W A0 CHORM 2 HBEl= AFEFOEM, A|CH ALS B2 BAE AILECH 158 STHE 5
AELICt
t AHE OHIBROZ cUlus Q1 BE:2,2%, 3% 4inch FHO| X[CH AF &2 363 psi/25 bar, 5 & 6 inch
THO AL AFE 3 290 psi/20 bar, 8 inch 774 | X CH AFE 43 232 psi/16 bar.
AHZ 10HHROZ FM A0 BE:2,21,3,4,6F 8inch FHO| A[CH AFR 22 363 psi/25 bar.
§ AHE 40 HI RO 2 cULus §9 &E:2,2%,3,4,56 % 8inch FHO| XL AFR 23 363 psi/25 bar.
AHEAOHIZEOE FM SQ & 5:2,2%,3,4,6 X 8inch #HO A[C] A} 23 363 psi/25 bar.
www.victaulic.com \A:t.aul c
Victaulic & VictaulicAte] SEMEQLICL. 2E SR E S0/ LICL © 2013 Victaulic Company. All rights reserved. !
REV_H

06.21-KOR_3



06.21-KOR

QuickVic® 1 ZA HET - THE
STYLE 107H
45 DIN £&

DIN 3% HiZ =

¥y

TIE} DIN HY 2 FE1H

750 3323
5170 14780
750 5301
5170 23580
750 7216
5170 32098
750 11928
5170 53058
750 10640
5170 47327
750 16236
5170 72220
750 17819
5170 79262
700 24130
4825 107335
700 21476
4825 95529
700 23228
4825 103324
600 35056
4135 155936

9I5| 0158 BF Pot

FEECHS H STHE

oH 28 E M8
h o ey,
psi/kP:
2 2375 0,01 600 2658 0157
50 60.3 23 4135 11823 40
3.000 0102 600 4241 0177
72 i 76. 26 4135 18865 45
3 3.500 0n4 600 5773 0197
80 88.9 29 4135 25680 50
4 4500 0126 500 7952 0220
100 1143 32 3450 35372 56
4250 0126 500 7093 0.220
1080 mm 1080 32 3450 31552 56
5250 0126 500 10824 0248
IEE0 AR 1330 32 3445 48147 63
5,500 0177 500 11879 0217
B W 1397 45 3450 52840 55
6 6625 0157 500 17236 0.280
150 1683 40 3450 76670 71
6.250 0126 500 15340 0.28
(M0 A 1500 32 3445 68235 71
6.500 0177 500 16592 0.280
1S A 1651 45 3445 73805 7
8 8625 0177 300 17528 0315
200 2191 45 2070 77970 80
*ALE & 9l BTHOFE 2 Victaulic AFZOl E0HK FO] IRE THZ A LIRS
ZHQLICE TIEF HY2FO] A S0l CHOHA = VictaulicOll 22| OFA|T] HFZLICH
139 A A CHOHM 2 M EE|= ALY O 2 A, X[ O AL B2 ZAIE A
= QUELICE
tDINHIZ RO Z cULus 39 BE: 29 mm EMH) 760 mm FHO| X[ AF2 & 363 psi/25 bar, 4.0 mm F£H)
1397 mm - HO X[ AFE 3 290 psi/20 bar, (4.5 mm FH) 1651 mm FH XL AFE FE 290 psi/20 bar.
AHE 0L 40 HIBHEO 2 FM &9 8 E:108.0 mm, 133.0 mm % 159.0 mm FHO| XL A 43 363 psi/25 bar.

www.victaulic.com
Victaulic & VictaulicAt2] SEM4EQLICL ZE BRE E0{YLICE © 2013 Victaulic Company. All rights reserved.

06.21-KOR_4

ictaulic’
REV_H



STYLE 107H

UdE ALY H|1: Style 107H QuickVic 184 HEY S A Yol T2 L, WE HO| "'V“"'OH 2HH D]
LAE =8 EE0| FOE 1800k LICE Style 107H Quickvic ¥ HEYQ FL, LI5 Hol
“QVT B2 “QV/EZ" EAT} EJ0] Q& Victaulic No. 60 %C q"; A0 A L. Victaulic No. 460-SS
ﬁE{I‘?_'E"Il*"” °,1|E WS Style 107H QuickVic TH A HE- HZ0| ALY M= QF EIL|CE Victaulic
[0 ot ME-2 Style 107H QuickVic 1F M HEZ | M%%* & G&LICE

[

MK Vlctaullc UHHERMESS S TZOMAIT| HiRLICE WES(EX] HYM)= Victaulic HE1t 2 H
25, TALOl 2 AFO|E www.victaulic.com O A{ PDF @AlC 2 & HiO} HAL 4 QI&L|CH

HE BS M NHZEY HEES YT S MECHIHLE ARMITE ALY E Victaulic 0f E2JOFAIT] HEEfLICE
9| 2 HZ L Victaulic O] 2|6 ®Z=E|HL} Victaulic 2] FHO| Ctet M =E[0{0}F $LICEL RE RES

bl Victaulic & MA|/Z=2 K| ARof ciep Mx|E|0{0F BrLICE Victaulic 2 AFE EX| S0 K1I%°l T,

HH X BE YHIE HEY B E BRYLICH

KEMIDE H2HA B E = wwwyictaulic.com XFRGHA|T| HEZFL|LCE
06.21-KOR 5916 REVH  UPDATED 05/2013 \/ct.auhd

Victaulic € VictaulicAlo] SEAEQLICE BE 2R E S0 ELICI © 2013 Victaulic Company. All rights reserved.



